ALL KERALA BHAVAN'S SCHOLARSHIP EXAMINATION 2015-2016

 a) ₹1080 b) ₹108.80 c) ₹120 d) ₹116 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is a) 28 b) 24 c) 30 d) 32 	CLA	ASS: VII			TIME: 90 Min.
branches are fast diminishing. a) between b) to c) from d) of 2. Rian is eager to appear for competitive exams. I'm sure she will come first in the competition as she				y and ending the other transfer to	MARKS: 100
the competition as she	1.	branches are fast d	iminishing.		
a) seems b) have seemed c) seem d) are seeming 4. Choose the sound of "Hyenas": a) gibber b) laugh c) warble d) drone 5. Choose the wrong pair a) air – aerate b) body – embody c) centre – centralise d) class – classics 6. Find out the wrongly spelt word a) bulldozer b) brochure c) privilage d) separate 7 is a great virtue. a) obey b) obedience c) obedient d) obeying 8. The women won the beauty pageant. a) little beautiful b) beautiful c) more beautiful d) most beautiful e) knew where the jewellery was. a) Somebody b) Anybody c) Nobody d) Everybody 10. In a linear pair of angles, one angle is 2/3rd of the other. The measure of the smaller angle is a) 108° b) 36° c) 72° d)54° 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is a) 28 b) 24 c) 30 d) 32 13. The value of ½ of (3/4 + 2/3) is	2.	the competition as	she	b) has flash in th	ne pan
a) gibber b) laugh c) warble d) drone 5. Choose the wrong pair a) air – aerate b) body – embody c) centre – centralise d) class – classics 6. Find out the wrongly spelt word a) bulldozer b) brochure c) privilage d) separate 7is a great virtue. a) obey b) obedience c) obedient d) obeying 8. Thewomen won the beauty pageant. a) little beautiful b) beautiful c) more beautiful d) most beautiful 9knew where the jewellery was. a) Somebody b) Anybody c) Nobody d) Everybody 10. In a linear pair of angles, one angle is 2/3rd of the other. The measure of the smaller angle is, a) 108° b) 36° c) 72° d)54° 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is, a) 28 b) 24 c) 30 d) 32	3.				
a) air – aerate c) centre – centralise b) body – embody d) class – classics 6. Find out the wrongly spelt word a) bulldozer b) brochure c) privilage d) separate 7	4.			c) warble	d) drone
a) bulldozer b) brochure c) privilage d) separate 7	5.	a) air – aerate			
a) obey b) obedience c) obedient d) obeying 8. Thewomen won the beauty pageant. a) little beautiful b) beautiful c) more beautiful d) most beautiful 9knew where the jewellery was. a) Somebody b) Anybody c) Nobody d) Everybody 10. In a linear pair of angles, one angle is 2/3rd of the other. The measure of the smaller angle is a) 108° b) 36° c) 72° d)54° 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is a) 28 b) 24 c) 30 d) 32 13. The value of ½ of (3/4 ÷ 2/3) is	6.			c) privilage	d) separate
a) little beautiful c) more beautiful d) most beautiful 9knew where the jewellery was. a) Somebody b) Anybody c) Nobody d) Everybody 10. In a linear pair of angles, one angle is 2/3rd of the other. The measure of the smaller angle is a) 108° b) 36° c) 72° d)54° 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is a) 28 b) 24 c) 30 d) 32 13. The value of ½ of (3/4 ÷ 3/3) is	7.			c) obedier	nt d) obeying
 a) Somebody b) Anybody c) Nobody d) 2103/40 10. In a linear pair of angles, one angle is 2/3rd of the other. The measure of the smaller angle is a) 108° b) 36° c) 72° d)54° 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is a) 28 b) 24 c) 30 d) 32 13. The value of ½ of (3/4 ÷ 3/2) is 	8. ′	a) little beautiful		b) beautiful	ul
a) 108° b) 36° c) 72° d)54° 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is a) 28 b) 24 c) 30 d) 32 13. The value of ½ of (3/4 ÷ 2/3) is	9	knew whe	re the jewellery w b) Anybody	as. c) Nobody	d) Everybody
 a) 108° b) 36° c) 72° d) 34° 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is	10.	In a linear pair o	f angles, one angl		
 11. An article after 10% discount is available for ₹108/ Its market price is: a) ₹1080 b) ₹108.80 c) ₹120 d) ₹118 12. Arun bought 3 dozen apples. He found 2/9 of them rotten. The number of good ones is a) 28 b) 24 c) 30 d) 32 13. The value of ½ of (³/₄ ÷ ²/₃) is 		a) 108°	b) 36°		
good ones is a) 28 b) 24 c) 30 d) 32 13. The value of $\frac{1}{2}$ of $(\frac{3}{4} \div \frac{2}{3})$ is	11.	An article after 1	b) ₹108.80	c) < 120	d) VIIO
good ones is a) 28 b) 24 c) 30 d) 32 13. The value of $\frac{1}{2}$ of $(\frac{3}{4} \div \frac{2}{3})$ is	12.	Arun bought 3 d	ozen apples. He	found 2/9 of ther	n rotten. The number of
- 01 - 01 - 01 - 01 - 01 - 01 - 01 - 01		good ones is	•		
a) $\frac{3}{16}$ b) $\frac{3}{16}$	13.	_	$f(\frac{3}{4} \div \frac{2}{3})$ is		d) ⁹
		a) $\frac{3}{16}$	D) 16	MELAMAI	KKARA

14.	Which pair of ang	gles is complement b) x° ,(90+x)°	ary? c) x°, (90-x)°	d) 63°, 37°
15.	By what number	should I be division	d to $get_{\overline{5}}^{f}$ c) $\frac{4}{5}$ half of that numbe	d) $\frac{-5}{4}$
16.	Three fourth of a a) 80	b) 40	half of that numbe c) 20 month, from the ye	d) 30 ear, having 30 days? d) $\frac{3}{4}$
17.	What is the proba a) $\frac{1}{3}$	bility of picking $b) \frac{1}{4}$	c) $\frac{1}{2}$ (2x)° and (x+10)° re	espectively. Give values d) 50°
18.	of x for which this to	b) 34°	c) 68°	
19.	· nt -tooynthesis	ose inside the cell i		d) Respiration
20.	Which gas is used	in fire extinguish b) H ₂ S		d) SO ₂
21.	The basic filtering a) Neuron	b) Nepris	c) Ureter	d) Urinary bladder
22.	An anaerobic orga a) Yeast	D) Shiropara	c) Lichen	d) Amoeba
23.	Which of these for a) concave mirror c) convex lens	m virtual images on b) cor d) nor	nvex mirror ne of these	
24.	Nichrome is used a) the filaments of c) heater elements	fbulbs	b) fuse wires d) coils of electro	magnets
25.	Heat is a form of _	b) light	c) electricity	d) work
26.	a) atomic	b) molecular	anchange c) chemical	d) physical
27.	Hydrochloric acid a) Nitric acid c) Citric acid	d) So	dium Hydroxide	
28.	al Dirous	b) Akbar	c) Abui Fazai	d) Tansen
	The earth atmosph a) the gravity of the c) the height of the			ty of the earth tion of the earth

3	80.	Which battle paved way for the Mua) Battle of Panipatc) Battle of Kanha			ghals to establish themselves in India. b) Battle of Plassey d) Battle of Chausa		
3	1.	A tribal gro a) Kolis	up which is for b) Gakl	und in Guja kar		ra & Karnataka. d) Gonds	
3	2.	World Wate a) 22 nd Mar	er Day is on		c) 22 nd May	,	
3	3.		rtain stories o	news is		rom publishing or d) Ban	
3	4.	•	,	hal archite	•	d under d) None of these	
3	5.	Coins in De a) Delhiwal			s were called c)both of these	d) none of these	
36	5.	First state in a) Gujarat	n India to intro b) Kera		day meal schen c) Tamil Nadu	ne was d) None of these.	
37		The World's a) Rafflesia	tallest flower b) Tital			weed d) Protea	
38		How many r a) eight	-	there in th	ne current US fl c) nine	ag? d) ten	
39		The largest i a) Yangtze	river of Asia is b) Meko		 c) Yenisei	d) Nile	
40.	á	a) Bharat B	achao Andola	n i i i i i i i i i i i i i i i i i i i	as Satyarthi, tl b) Ganga Back d) Bhoodan Ar		•
41.		Which India f the countr		as selected	d for the fourth	time as the best football	er
	a c) Baichung) I.M.Vijay			b) Sunil Chett d) Mahesh Ga		
42.	a	Vho was the) Triguielee) Ban-ki-mo		eral Secre	tary? b) Dr.Kurtwal d) Koffee-Ann		
43.	a)	ostok, Soyu Lunar Mis Space Craf	ssions	13 are na	me of b) Solar Miss d) Aeroshells		
44.	W a)		ala was the I am	ndian Inst	itute of Techn b) Palakkad d) Ernakulan	ology (IIT) started?	

BVM ELAMAKKARA

45. The RBI (Reserve Bank of India) has decided to issuerupee coin to							
45. T			of Yoga.	d) 10			
46.	n) 1	ь) 2					
7 14							
5 10							
		7 9					
		umber from the a	bove diagram.	1) 10			
Fi	nd the missing n	of 3	c) 4	d) 18			
a)	2 • • P-2 C=5 so	on. What do the	numbrs 3,9,7 sta	nas ioi r			
	o is sixteer	vear old is four	times as old as he	r brother. How will			
Ma	ary be when she i	is twice as old as	c) 25	d) 26			
	ay after tomorro Monday b	w is Sunday, wha) Tuesday	at day was three d c) Thursday	ays before Yesterday? d) Saturday			
	ich one of the fo ger is to hand as		the best compari	ison?			
	_) tree	c) branch	d) bark			
		es, the economy r) Dominion	emains in the c) Decorum	d) Domain			
52. The	fraction $\frac{5}{6}$ is for	ınd between whi	ch pair of fraction	s on a number line?			
	_		c) $\frac{10}{16}$ and $\frac{21}{32}$				
53. Rust	ing of iron take	s place in preser	ice of				
	xygen and carbo		b) water and Car	bon dioxide			
	c) water and Hydrogen		d) oxygen and water				
54. Which	h river cuts the	equator twice?	, , ,				
a) R							
b) Ri	iver Nile		b) River Yangtsed) River Kongo				
55. Who appoints the Governor of the State?							
a) Prime Minister b) Chief Minister							
b) Pr	esident		d) Chief Justice	r			
